BaE 5402 Aotk

BHMEMFETCORBEEEMILONHN - BEAINOHLHE-BEHE] (FF2EFEE)
(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BHE(ke/F) —_
#E ] _ =
FR BERRE A ks [SEDP| puE T~ ERe| BpE | BEE
==k D | OB || A (OBBE| #H | A
1 |deiEE
2 |EHR
i g;i 7.7E+0 7.7 7.7
5 (AR
6 [ILE
7 |EER
8 |&WR
9 [HEKRE
=]
:? f::tﬁ: 6.1E+0 6.1 6.1
12 |FER
13 |EREER
14 [#HEINE
15 |FBg
16 |=IWLE
17 [BIIER
18 |fBHE
19 [ILBLE
20 |RHE
21 |IgEE
22 |EEEIR
23 |BHE
24 |=ER
25 |HER
26 |FHERAT
27 | KBRFF
28 |EER
29 |RRE
30 |FNFRLE
31 |EWE
32 |BiRE
=]
2431 E;g 6.4E+1 64.0 64.0
35 [lWAOR
36 |ESER
37 |FENE
38 |EBER
39 |EHER
:[1) EZE 4 5E+1 450 450
42 |RIFE
43 |[BEXRER
4 | KR
45 |EIFE
46 |ERER
@47131 R 1.2E+2 122.8 122.8
1)

EEE . IO7IAN)—HRE (B REERVATLEEHE

A




